VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

Electrical Enclosure
Product Description

Model:DS-SMC-32514 /| DS-SMC-43020
DS-SMC-44020 / DS-SMC-54020
DS-SMC-64023 / DS-SMC-65023

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR Electrical Enclosure

TOUGH TOOLS, HALF PRICE

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



©

Warning-To reduce the risk of injury, user must read
instructions manual carefully.

FEATURES OF PRODUCTS

DS-SMC series is a new type of electric plastic box, it is made of Sheet
molding compound(SMC)fiberglass, waterproof grade to IP66, impact
resistance to IKO8 level. The characteristic of the SMC fiberglass is high
strength,excellent impact resistance,good toughness,easy to process and
shape,etc.so that it achieves a high resistance and mechanical stiffness

(IK08).Compared with electric metal box, the DS-SMC series own

excellent insulation performance and is more suitable for corrosion and

humid environment and other advantages.

SPECIFICATION DATA

Model External Internal Wall Wall Material
Size Size Mounting Mounting
(H*W*D)mm | (H*W*D)mm | Distance Distance
A1 A2

(H*W)mm (H*W)mm

DS-SMC-32514 | 300*250*140 | 274*240*116 | 329*215 247*297
DS-SMC-43020 | 400*300*200 | 365*287*176 | 420*260 338*342
DS-SMC-44020 | 400*400*200 | 365*387*176 | 420*260 338*442

DS-SMC-54020 | 500*400*200 | 464*391*176 | 516*356 434*438 SMC
Fiberglass

DS-SMC-64023 | 600*400*230 | 564*386*207 | 618*360 536442
DS-SMC-65023 | 600*500*230 | 564*486*207 | 618*460 536*542

NOTE:




1. IP Level: IP66

2. IK Level: IKO8

3. Temperature Range: -40°Cto +120°C

4. Accessories: plastic wall mounting parts:4pcs with screws.

INSTALLATION STEPS

1. About Lock’s Open & Close

(1)Close Lock:Close box door,the key on vertical position(see below
picture) is locking open state.Starting with hand on press down the
door(the door equip with sealing ring to meet waterproof performance),
then rotates the key 90° to the left to lock the door.See Figure 1.

¢
A Figure 1

(2)Open Lock:the key on horizontal position(see below picture) is locking
close state.,Starting with hand on press down the door,then rotates the key
90° to the right to open the door.See Figure 2.

T T NS

e § W0

.‘0-5

-

Figure 2

2. About The Installation & Disassembly of Din Rail
-3-



The 3pcs steel Din Rail already fixed in the box when ex-works.

See Figure 3.

(1)Disassembly din rail: Use M6 spanner Unscrew the din rail two sides’
nuts in a counterclockwise direction.

(2)Installation din rail:when you need reinstall din rail into box.first put the
din rail on showed correct position,screw the 2pcs M6 nuts with fixed
M6*20mm bolts in a clockwise direction by M6 spanner.

wmwmq

3. About The Installatlon & Dlsassembly of Mounting Plate

The galvanized mounting plate already fixed into box when ex-works.

See Figure 4.

(1)Disassembly mounting plate: Use M6 spanner Unscrew the mounting
plate’s 4pcs nuts in a counterclockwise direction.

(2)Installation mounting plate:when you reinstall mounting plate into
box.first put the mounting plate on showed correct position,Fix the 4pcs M6

nuts with fixed bolts in a clockwise direction by M6 spanner.
wmy 21

Fr = Figure 4
4. About The Installation of The Wall Mounting Pendants

-4-



(1) Use an electric screwdriver(equip with & 6.5mm drill bit) to drill through

the wall mount reserved holes;

(2) The M6 nut is placed at the correct position of the wall mounting
pendant;

(3) The wall mounting pendant is installed at the correct position of the
mounting hole (because the wall mounting pendant hole is hexagonal, so
support adjust the installation angle of the wall mounting pendant
according to their own use: horizontal, vertical, 45 degrees etc);

when the wall mounting pendant vertical mounting on the wall,related wall
mounting distance A1(H*W)showed on the above Specification Data
Sheet.

when the wall mounting pendant horizontal mounting on the wall,related
wall mounting distance A2(H*W)showed on the above Specification Data
Sheet.

(4) Pass through the M6*25mm bolts from the inside of the box and fix the
nut of the wall mounting pendant;

(5) The remaining three corners are fixed by the same operation method;
(6) After finished the installation of the wall mounting pendants, select a
suitable position on the wall, and fix the box on the wall.

See Figure 5.

e =




Figure 5

Made In China



VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Technique Certificat d'assistance et de garantie électronique
www.vevor.com/support

Coffret électrique
Description du produit

Modéle : DS -SMC-32514 /| DS-SMC- 43020
DS-SMC-44020 / DS-SMC-54020
DS-SMC-64023 / DS-SMC-65023

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR Electrical Enclosure

TOUGH TOOLS, HALF PRICE

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



©

Avertissement - Pour réduire le risque de blessure, I'utilisateur
doit lire attentivement le manuel d'instructions.

FEATURES OF PRODUCTS

DS-SMC est un nouveau type de boitier électrique en plastique , il est
fabriqué en fibre de verre SMC (composé de moulage en feuille) , indice
d'étanchéité IP66 , résistance aux chocs IK 08. La fibre de verre SMC se
caractérise par une résistance élevée, une excellente résistance aux
chocs, une bonne ténacité, une facilité de traitement et de mise en forme,
etc., ce qui lui permet d'atteindre une résistance élevée et une rigidité
mécanique (IK 08 ). Par rapport aux boitiers électriques en métal, la série
DS-SMC posséde d'excellentes performances d'isolation et est plus
adaptée a la corrosion et aux environnements humides , entre autres

avantages.
SPECIFICATION DATA
Modéle Taille Taille Distance Distance Matériel
externe interne de de
(H*L*P)mm (H*L*P)mm montage montage
mural A1 mural A2
(H*L)mm (H*L)mm
DS-SMC-32514 300*250*140 | 274*240*116 329*215 247297
DS-SMC-43020 | 400*300*200 | 365*287*176 420*260 338*342
DS-SMC-44020 | 400*400*200 | 365*387*176 420*260 338*442
DS-SMC-54020 500*400*200 | 464*391*176 516*356 434%438 Fibre de
verre
DS-SMC-64023 600*400*230 | 564*386*207 618*360 536*442 SMC




DS-SMC-65023 | 600*500*230 | 564*486*207 | 618*460 536*542

NOTE:

5. Niveau IP : IP66

6. Niveau IK : IKO8

7. Plage de température : -40C a +120°C

8. Accessoires : pieces de montage mural en plastique : 4 pieces
avec vis.

INSTALLATION STEPS

5. A propos de Lock 's Open & Close

(1) Fermer le verrou : fermez la porte de la boite, la clé en position verticale
(voir I'image ci-dessous) verrouille I'état ouvert. Commencez avec la main
en appuyant sur la porte (la porte est équipée d'une bague d'étanchéité
pour répondre aux performances d'étanchéité), puis faites tourner la clé de
90° vers la gauche pour verrouiller la porte. Voir la figure 1.

¢
o aFigure 1

(2) Ouvrir le verrou : la clé en position horizontale (voir I'image ci-dessous)
est en état de verrouillage fermé. Commencez avec la main sur la porte,
puis faites tourner la clé de 90 ° vers la droite pour ouvrir la porte. Voir la
figure 2.

A AL (W T 2 )




® »

—————————

;
] Figure 2

6. A propos de l'installation et du démontage du rail DIN

Le rail DIN en acier 3 piéces est déja fixé dans la boite lors de la sortie
d'usine.

Voir la figure 3.

(1) Démontage du rail DIN : Utilisez une clé M6 Dévissez les écrous des
deux cotés du rail DIN dans le sens inverse des aiguilles d'une montre.
(2) Installation du rail DIN : lorsque vous devez réinstaller le rail DIN dans
le boitier, placez d'abord le rail DIN dans la position correcte indiquée,
vissez les 2 écrous M6 avec des boulons fixes M6 * 20 mm dans le sens
des aiguilles d'une montre a I'aide d'une clé M6.

R0 R RIS 0 PO 2

e .Figure 3

7. A propos de l'installation et du démontage de la plaque de
montage

La plague de montage galvanisée est déja fixée dans la boite a la sortie
d'usine.

Voir la figure 4.



(1) Démontage de la plaque de montage : utilisez une clé M6. Dévissez les
4 écrous de la plaque de montage dans le sens inverse des aiguilles d' une
montre.

(2) Installation de la plaque de montage : lorsque vous réinstallez la plaque
de montage dans la boite, placez d'abord la plaque de montage dans la
position correcte indiquée, fixez les 4 écrous M6 avec des boulons fixes
dans le sens des aiguilles d'une montre a l'aide d'une clé M6.

N

e Figure 4
8. A propos de l'installation des suspensions murales

(1) Utilisez un tournevis électrique (équipé d'un foret de ¢ 6,5 mm) pour

percer les trous réservés au support mural ;

(2) L'écrou M6 est placé a la bonne position du support de montage mural ;
(3) Le support de montage mural est installé a la bonne position du trou de
montage (car le trou du support de montage mural est hexagonal, donc le
support ajuste I'angle d'installation du support de montage mural en
fonction de sa propre utilisation : horizontal, vertical, 45 degrés, etc.) ;
lorsque le montage mural suspendu est monté verticalement sur le mur, la
distance de montage mural associée A1 (H * L) indiquée sur la fiche
technique ci-dessus.

lorsque le pendentif de montage mural est monté horizontalement sur le
mur, la distance de montage mural associée A2 (H * L) indiquée sur la fiche
technique ci-dessus.

(4) Passez les boulons M6*25mm depuis l'intérieur de la boite et fixez
I'écrou du support de montage mural ;

-5-



(5) Les trois coins restants sont fixés par la méme méthode d'opération ;
(6) Une fois l'installation des suspensions murales terminée, sélectionnez
une position appropriée sur le mur et fixez le boitier sur le mur.

Voir la figure 5.

T

et

Figure 5

Fabriqué en Chine



VEVOR

TOUGH TOOLS, HALF PRICE

Technique Certificat d'assistance et de garantie électronique
www.vevor.com/support


https://www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Technisch Support und E-Garantie-Zertifikat
www.vevor.com/support

Elektrisches Gehause
Produktbeschreibung

Modell : DS -SMC-32514 / DS-SMC- 43020
DS-SMC-44020 / DS-SMC-54020
DS-SMC-64023 / DS-SMC-65023

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR Electrical Enclosure

TOUGH TOOLS, HALF PRICE

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



©

Warnung: Um das Verletzungsrisiko zu verringern, muss der
Benutzer die Bedienungsanleitung sorgfaltig lesen.

FEATURES OF PRODUCTS

Die DS-SMC- Serie ist ein neuer Typ von elektrischen Kunststoffboxen .

Sie besteht aus Sheet Molding Compound (SMC)-Glasfaser , ist

wasserdicht bis IP66 und schlagfest bis IK 0,8 . Die Eigenschaften der
SMC-Glasfaser sind hohe Festigkeit, hervorragende Schlagfestigkeit, gute
Zahigkeit, einfache Verarbeitung und Formgebung usw., sodass eine hohe
Festigkeit und mechanische Steifigkeit (IK 0,8 ) erreicht wird. Im Vergleich
zu elektrischen Metallboxen weist die DS-SMC -Serie eine hervorragende
Isolierleistung auf und ist besser fir Korrosion und feuchte Umgebungen
geeignet und bietet weitere Vorteile.

SPECIFICATION DATA

Modell Externe Interne Wandmon | Wandmont Material
GroRe GroRe tageabsta | ageabstan
(H*B*T)mm (H*B*T)mm nd A1 d A2
(H*B)mm (H*B)mm
DS-SMC-32514 300*250*140 | 274*240*116 329*215 247297
DS-SMC-43020 400*300*200 | 365*287*176 420%260 338*342
DS-SMC-44020 400*400*200 | 365*387*176 420*260 338*442
DS-SMC-54020 | 500*400%200 | 464*391*176 | 516*356 434*438 SMC-Glas
faser
DS-SMC-64023 600*400*230 | 564*386*207 618*360 536*442
DS-SMC-65023 600*500*230 | 564*486*207 618460 536542

NOTIZ:




9. IP-Schutzart: IP66
10. IK-Stufe: IKO8
11. Temperaturbereich: -40°C bis +120°C

12. Zubehor: Wandbefestigungsteile aus Kunststoff: 4 Stlick mit
Schrauben.

INSTALLATION STEPS

9. Uber Lock's Open & Close

(1) Schloss schlieRen: SchlieRen Sie die Kastentlr. Der Schlissel in
vertikaler Position (siehe Abbildung unten) verriegelt den gedffneten
Zustand. Dricken Sie die Tlr zunachst mit der Hand nach unten (die Tur
ist mit einem Dichtungsring ausgestattet, um sie wasserdicht zu machen).
Drehen Sie dann den Schlissel um 90° nach links, um die TUr zu
verriegeln. Siehe Abbildung 1.

¥y
:

® ¢
AAbbildung 1

(2) Schloss 6ffnen: Der Schlissel in horizontaler Position (siehe Abbildung
unten) verriegelt das Schloss im geschlossenen Zustand. Driicken Sie
zunachst mit der Hand auf die Tur und drehen Sie den Schlissel dann um
90° nach rechts, um die Tir zu 6ffnen. Siehe Abbildung 2.



Lo

.f@.-

—————————

] Abbildung 2

10. Uber die Installation und Demontage von Din-Schienen

Die 3 DIN-Schienen aus Stahl sind bereits ab Werk in der Box befestigt.
Siehe Abbildung 3.

(1) Demontage der DIN-Schiene: Verwenden Sie einen
M6-SchraubenschlUssel und I16sen Sie die Muttern auf beiden Seiten der
DIN-Schiene gegen den Uhrzeigersinn.

(2) Installation der DIN-Schiene: Wenn Sie die DIN-Schiene neu in der Box
installieren missen, legen Sie die DIN-Schiene zuerst in die richtige
Position und schrauben Sie die beiden M6-Muttern mit den festen M6 x 20
mm-Schrauben im Uhrzelgersmn mit einem M6-Schraubenschlussel fest.

PR AP 1 TNR  ¢

= Abblldung 3

11. Uber die Installation und Demontage der Montageplatte

Die verzinkte Montageplatte ist bereits ab Werk im Karton befestigt.
Siehe Abbildung 4.

(1) Demontage der Montageplatte: Verwenden Sie einen
M6-Schraubenschlissel und I6sen Sie die vier Muttern der Montageplatte

B

-4-



gegen den Uhrzeigersinn.

(2) Installation der Montageplatte: Wenn Sie die Montageplatte wieder in
der Box installieren, legen Sie die Montageplatte zunachst in die richtige
Position und befestigen Sie die vier M6-Muttern mit den festen Schrauben
im Uhrzeigersinn mit einem M6-Schraubenschlussel.

N

e Abbildung 4
12. Uber die Installation der Wandmontageanhinger
(1) Verwenden Sie einen Akkuschrauber (mit einem 6,5-mm-Bohrer
ausgestattet), um die fur die Wandhalterung vorgesehenen Locher zu
bohren.
(2) Die M6-Mutter wird an der richtigen Position des Wandmontagebulgels
angebracht.
(3) Die Wandhalterung wird an der richtigen Position des Montagelochs
installiert (da das Loch der Wandhalterung sechseckig ist, kann der
Installationswinkel der Wandhalterung je nach Verwendungszweck
angepasst werden: horizontal, vertikal, 45 Grad usw.).
Bei vertikaler Montage des Wandmontagependels an der Wand ist der
entsprechende Wandmontageabstand A1 (H x B) wie im obigen Datenblatt
mit den technischen Daten angegeben.
Bei horizontaler Montage der Wandhalterung an der Wand ist der
entsprechende Wandmontageabstand A2 (H x B) wie im obigen Datenblatt
mit den technischen Daten angegeben.

(4) Fihren Sie die M6 x 25 mm Schrauben von der Innenseite der Box
durch und befestigen Sie die Mutter des Wandmontageanhangers.
(5) Die Ubrigen drei Ecken werden mit der gleichen Methode fixiert.

-5-



(6) Nachdem Sie die Wandhalterungen installiert haben, wahlen Sie eine
geeignete Stelle an der Wand und befestigen Sie die Box an der Wand.
Siehe Abbildung 5.

T

In China hergestelit



VEVOR

TOUGH TOOLS, HALF PRICE

Technisch Support und E-Garantie-Zertifikat
www.vevor.com/support


https://www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Tecnico Supporto e certificato di garanzia elettronica
www.vevor.com/support

Contenitore elettrico
Descrizione del prodotto

Modello : DS -SMC-32514 /| DS-SMC- 43020
Modello DS-SMC-44020 / Modello DS-SMC-54020
Modello DS-SMC-64023 / Modello DS-SMC-65023

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR Electrical Enclosure

TOUGH TOOLS, HALF PRICE

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



©

Attenzione: per ridurre il rischio di lesioni, I'utente deve leggere
attentamente il manuale di istruzioni.

FEATURES OF PRODUCTS

DS-SMC & un nuovo tipo di scatola elettrica in plastica , é realizzata in
composto per stampaggio a foglio ( SMC) in fibra di vetro , grado di
impermeabilita IP66 , resistenza agli urti al livello IK 0,8 . La caratteristica
della fibra di vetro SMC ¢& I'elevata resistenza, I'eccellente resistenza agli
urti, la buona tenacita, la facilita di lavorazione e modellatura, ecc. in modo
da ottenere un'elevata resistenza e rigidita meccanica (IK 0,8 ). Rispetto
alla scatola elettrica in metallo, la serie DS-SMC possiede eccellenti
prestazioni di isolamento ed & piu adatta alla corrosione e all'ambiente
umido e altri vantaggi.

SPECIFICATION DATA

Modello Dimensioni Dimensioni Distanza | Distanza di | Materiale
esterne interne di montaggio
(altezza*larg | (altezza*lar | montaggi | a parete A2
hezza*profo | ghezza*prof | o a parete | (altezza*lar
ndita) mm ondita) mm A1 ghezza)
(altezza*la mm
rghezza)
mm
Codice Dimensioni: Dimensioni: | Dimensioni 247*297
DS-SMC-32514 | 300*250%140 | 274*240*116 | :329*215
Codice articolo 400*300*200 | Dimensioni: 420*260 338*342
DS-SMC-43020 365*287*176
Codice articolo 400*400*200 | 365*387*176 | 420*260 Dimensioni:
DS-SMC-44020 338*442 Fibra di
vetro SMC




Codice articolo 500*400*200 | Dimensioni: 516*356 434*438
DS-SMC-54020 464*391*176

Codice articolo Dimensioni: Dimensioni: 618*360 536*442
DS-SMC-64023 600*400*230 | 564*386*207

Codice articolo Dimensioni: Dimensioni: | Dimensioni 536*542
DS-SMC-65023 600*500*230 | 564*486*207 | :618%460

NOTA:

13. Livello IP: IP66

14. Livello IK: IKO8

15. Intervallo di temperatura: da -40°C a +120°C

16. Accessori: parti in plastica per il montaggio a parete: 4 pezzi
con viti.

INSTALLATION STEPS

13. Informazioni su Lock 's Open & Close

(1) Chiusura della serratura: chiudere lo sportello della scatola, la chiave in
posizione verticale (vedere I'immagine sotto) blocca lo stato aperto.
Iniziare con la mano e premere verso il basso lo sportello (lo sportello &
dotato di anello di tenuta per garantire prestazioni di impermeabilita),
quindi ruotare la chiave di 90° verso sinistra per bloccare lo sportello.
Vedere la Figura 1.

T T NS

e § W0

¢
AFigura 1

(2) Apertura della serratura: la chiave in posizione orizzontale (vedere
I'immagine sotto) blocca lo stato di chiusura. Iniziare con la mano e

-3-




premere verso il basso la porta, quindi ruotare la chiave di 90° verso
destra per aprire la porta. Vedere la Figura 2.

e o

SRS

—————————

] Figura 2

14. Informazioni sull'installazione e lo smontaggio della guida
DIN

La guida DIN in acciaio da 3 pezzi € gia fissata nella scatola in fabbrica.
Vedere Figura 3.

(1) Smontaggio guida DIN: utilizzare una chiave M6. Svitare i dadi su
entrambi i lati della guida DIN in senso antiorario.

(2) Installazione della guida DIN: quando & necessario reinstallare la guida
DIN nella scatola, posizionare prima la guida DIN nella posizione corretta,
quindi avvitare i 2 dadi M6 con i bulloni fissi M6*20mm in senso orario

utilizzando una chiave M6.
R O P A Y £ IR 2 ¢

= T Flgura 3

15. Informazioni sull’ mstallazmne e lo smontaggio della piastra
di montaggio

Piastra di montaggio zincata gia fissata nella scatola in fabbrica.

ks

-4-



Vedere Figura 4.

(1) Smontaggio della piastra di montaggio: utilizzare una chiave M6.
Svitare i 4 dadi della piastra di montaggio in senso antiorario.

(2) Installazione della piastra di montaggio: quando si reinstalla la piastra
di montaggio nella scatola, posizionare prima la piastra di montaggio nella
posizione corretta, quindi fissare i 4 dadi M6 con bulloni fissi in senso

orario mediante una chiave M6.
i e

= -Figura 4
16. Informazioni sull'installazione dei pendenti da parete

(1) Utilizzare un cacciavite elettrico (dotato di punta da trapano da ¢6,5

mm) per forare i fori riservati al montaggio a parete;

(2) Il dado M6 & posizionato nella posizione corretta del supporto a parete;
(3) Il pendente per montaggio a parete € installato nella posizione corretta
del foro di montaggio (poiché il foro del pendente per montaggio a parete &
esagonale, quindi il supporto regola I'angolo di installazione del pendente
per montaggio a parete in base al proprio utilizzo: orizzontale, verticale, 45
gradi ecc.);

quando il montaggio a parete del pendente & verticale sulla parete, la
distanza di montaggio a parete correlata A1 (H*W) & indicata nella scheda
tecnica delle specifiche sopra.

quando il montaggio a parete €& orizzontale, la distanza di montaggio a
parete correlata A2 (H*W) € indicata nella scheda tecnica delle specifiche
sopra.

(4) Passare attraverso i bulloni M6*25mm dall'interno della scatola e

-5-



fissare il dado del pendente di montaggio a parete;
(5) | restanti tre angoli vengono fissati con lo stesso metodo di operazione;
(6) Dopo aver completato l'installazione dei pendenti da parete,

selezionare una posizione adatta sulla parete e fissare la scatola alla
parete.

Vedere Figura 5.

Wi

Figura 5



Made in China



VEVOR

TOUGH TOOLS, HALF PRICE

Tecnico Supporto e certificato di garanzia elettronica
www.vevor.com/support


https://www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Técnico Certificado de soporte y garantia electrénica
www.vevor.com/support

Caja eléctrica
Descripcion del Producto

Modelo : DS -SMC - 32514 / DS-SMC-43020
DS-SMC-44020 / DS-SMC-54020
DS-SMC-64023 / DS-SMC-65023

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR Electrical Enclosure

TOUGH TOOLS, HALF PRICE

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



©

Advertencia: Para reducir el riesgo de lesiones, el usuario
debe leer atentamente el manual de instrucciones.

FEATURES OF PRODUCTS

DS-SMC es un nuevo tipo de caja eléctrica de plastico , esta hecha de

compuesto de moldeo de laminas ( SMC) de fibra de vidrio , grado

impermeable a IP66 , resistencia al impacto a nivel IK0 8. La
caracteristica de la fibra de vidrio SMC es alta resistencia, excelente
resistencia al impacto, buena tenacidad, facil de procesar y dar forma, etc.
de modo que logra una alta resistencia y rigidez mecanica (IK 0 8). En
comparacion con la caja eléctrica de metal, la serie DS-SMC posee un
excelente rendimiento de aislamiento y es mas adecuada para la corrosion
y el ambiente humedo y otras ventajas.

SPECIFICATION DATA

Modelo Tamafo Tamano Distancia Distancia Material
externo interno de de montaje
(Alto*Ancho | (Alto*Ancho | montaje en pared
*Profundida | *Profundida | en pared A2
d)mm d)mm A1 (Alto*Anch
(Alto*Anc o)mm
ho)mm
DS-SMC-32514 | 300*250*140 | 274*240*116 | 329*215 247*297
DS-SMC-43020 | 400*300*200 | 365*287*176 | 420*260 338*342
DS-SMC-44020 | 400*400*200 | 365*387*176 | 420*260 338*442
DS-SMC-54020 | 500*400*200 | 464*391*176 | 516*356 434*438 Fibra de
vidrio
DS-SMC-64023 | 600*400*230 | 564*386*207 | 618*360 536442 SMC




DS-SMC-65023 | 600*500*230 | 564*486*207 | 618*460 536*542

NOTA:

17. Nivel de IP: IP66

18. Nivel IK: IKO8

19. Rango de temperatura: -40C a +120C

20. Accesorios: piezas de montaje en pared de plastico: 4 piezas
con tornillos.

INSTALLATION STEPS

17. Acerca de la funcion Abrir y cerrar de Lock

(1) Cerrar cerradura: Cierre la puerta de la caja, la llave en posicion
vertical (ver imagen a continuacion) esta bloqueando el estado abierto.
Comience con la mano presionando la puerta hacia abajo (la puerta esta
equipada con un anillo de sellado para cumplir con el rendimiento a prueba
de agua), luego gire la llave 90° hacia la izquierda para bloquear la
puerta. Ver Figura 1.

v
o

i § PR 28

® ¢
o aFigura 1

(2) Cerradura abierta: la llave en posicion horizontal (ver imagen a
continuacion) bloquea el estado cerrado. Comience con la mano
presionando la puerta hacia abajo y luego gire la llave 90° hacia la
derecha para abrir la puerta. Ver Figura 2.




@ L=

] Figura 2

18. Acerca de la instalaciéon y desmontaje de carriles DIN

El riel DIN de acero de 3 piezas ya esta fijado en la caja cuando sale de
fabrica.

Vea la figura 3.

(1) Desmontaje del riel DIN: Utilice una llave M6 para desatornillar las
tuercas de los dos lados del riel DIN en sentido antihorario.

(2) Instalacion del riel DIN: cuando necesite reinstalar el riel DIN en la caja,
primero coloque el riel DIN en la posicidn correcta que se muestra,
atornille las 2 tuercas M6 con pernos fijos M6 * 20 mm en el sentido de las

agujas del reloj con una llave M6.
mﬁw:’xmw,mm

BEERSIAE = Flgura 3

19. Acerca de la mstalamon y desmontaje de la placa de
montaje

La placa de montaje galvanizada ya esta fijada en la caja de fabrica.
Vea la figura 4.

(1) Desmontaje de la placa de montaje: Utilice una llave M6. Desatornille

-4-



las 4 tuercas de la placa de montaje en sentido antihorario.

(2) Placa de montaje de instalacion: cuando vuelva a instalar la placa de
montaje en la caja, primero coloque la placa de montaje en la posicion
correcta que se muestra, fije las 4 tuercas M6 con pernos fijos en el

sentido de las agujas del reloj con una IIave M6.
ot s R

= -Figura 4
20. Acerca de la instalacion de los colgantes de montaje en
pared

(1) Utilice un destornillador eléctrico (equipado con una broca de ¢6,5

mm) para perforar los orificios reservados para el montaje en pared;

(2) La tuerca M6 se coloca en la posicion correcta del colgante de montaje
en pared;

(3) El colgante de montaje en pared se instala en la posicion correcta del
orificio de montaje (debido a que el orificio del colgante de montaje en
pared es hexagonal, el soporte ajusta el angulo de instalacién del colgante
de montaje en pared de acuerdo con su propio uso: horizontal, vertical, 45
grados, etc.);

Cuando el colgante de montaje en pared se monta verticalmente en la
pared, la distancia de montaje en pared relacionada A1 (alto x ancho) se
muestra en la hoja de datos de especificaciones anterior.

Cuando el colgante de montaje en pared se monta horizontalmente en la
pared, la distancia de montaje en pared relacionada A2 (alto x ancho) se
muestra en la hoja de datos de especificaciones anterior.

(4) Pase los pernos M6*25 mm desde el interior de la caja y fije la tuerca

-5-



del colgante de montaje en pared;

(5) Las tres esquinas restantes se fijan mediante el mismo método de
operacion;

(6) Una vez finalizada la instalacién de los colgantes de montaje en pared,
seleccione una posicion adecuada en la pared y fije la caja en la pared.
Vea la figura 5.

Figura 5



Hecho en china



VEVOR

TOUGH TOOLS, HALF PRICE

Técnico Certificado de soporte y garantia electrénica
www.vevor.com/support


https://www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Techniczny Wsparcie i certyfikat e-gwaranciji
www.vevor.com/support

Obudowa elektryczna
Opis produktu

Model : DS -SMC-32514 / DS-SMC- 43020
DS-SMC-44020 / DS-SMC-54020
DS-SMC-64023 / DS-SMC-65023

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR Electrical Enclosure

TOUGH TOOLS, HALF PRICE

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



©

Ostrzezenie: Aby zminimalizowac¢ ryzyko obrazen, uzytkownik
powinien uwaznie przeczyta¢ instrukcje obstugi.

FEATURES OF PRODUCTS

DS-SMC to nowy typ skrzynki elektrycznej z tworzywa sztucznego ,

wykonana z witdékna szklanego (SMC) , wodoodpornosé do IP66 ,

odpornos¢ na uderzenia do poziomu IK 0,8 . Wtdkno szklane SMC
charakteryzuje sie wysokag wytrzymatoscig, doskonatg odpornoscig na
uderzenia, dobrg wytrzymatos$cia, fatwoscig obrobki i ksztattowania itp.,
dzieki czemu osigga wysokg odpornosc¢ i sztywnos¢ mechaniczng (IK 0,8 ).
W poréwnaniu ze skrzynkg elektryczng z metalu, seria DS-SMC posiada
doskonate wiasciwosci izolacyjne i jest bardziej odpowiednia do korozji i
wilgotnego srodowiska oraz inne zalety.

SPECIFICATION DATA

Model Rozmiar Rozmiar Odlegtos¢ | Odlegtos¢ | Tworzyw
zewnetrzny | wewnetrzny | montazu | montazu na o

(Wys.*Szer.* | (Wys.*Szer. | na scianie | Scianie A2

GhL)mm *GL)mm A1 (Wys.*Szer.

(Wys.*Sze )mm

r.)mm

DS-SMC-32514 | 300*250*140 | 274*240*116 | 329*215 247*297

DS-SMC-43020 | 400*300*200 | 365*287*176 | 420*260 338*342

DS-SMC-44020 | 400*400*200 | 365*387*176 | 420*260 338*442
DS-SMC-54020 | 500*400*200 | 464*391*176 | 516*356 434*438 Witdkno
szklane
DS-SMC-64023 | 600*400*230 | 564*386*207 | 618*360 536*442 SMC




DS-SMC-65023 | 600*500*230 | 564*486*207 | 618*460 536*542

NOTATKA:

21. Poziom IP: IP66

22. Poziom IK: IKO8

23. Zakres temperatur: -40°Cdo +120°C

24. Akcesoria: plastikowe elementy do montazu na Scianie: 4 szt.
ze srubami.

INSTALLATION STEPS

21. O systemie Lock 's Open & Close

(1) Zamkniecie zamka: Zamknij drzwi skrzynki, klucz w pozycji pionowej
(patrz ponizszy rysunek) blokuje stan otwarty. Rozpocznij od docisniecia
drzwi rekg (drzwi sg wyposazone w pierscien uszczelniajgcy, aby
zapewni¢ wodoodpornosc), a nastepnie obré¢ klucz 0 90°  w lewo, aby
zablokowac drzwi. Zobacz rysunek 1.

%

TN
+a*,

SR

4»
ARysunek 1

(2)Otwarcie zamka: klucz w pozycji poziomej (patrz rysunek ponizej)
blokuje stan zamkniety. Rozpocznij od nacisniecia drzwi rekg, a nastepnie
obroc¢ klucz 0 90°  w prawo, aby otworzy¢ drzwi. Zobacz rysunek 2.




® »

—————————

i
] Rysunek 2

22. O instalacji i demontazu szyny DIN

3-czesciowa stalowa szyna DIN jest juz zamontowana w pudetku w
momencie dostawy.

Zobacz rysunek 3.

boczne szyny DIN w kierunku przeciwnym do ruchu wskazéwek zegara.
(2) Montaz na szynie DIN: gdy zachodzi potrzeba ponownej instalacji
szyny DIN w obudowie, najpierw nalezy umiesci¢ szyne DIN we wskazanej
prawidtowej pozyciji, a nastepnie przykreci¢ 2 nakretki M6 za pomocg $rub
M6*20 mm zgodnie z ruchem wskazéwek zegara za pomocg klucza
nasadowego M6.

PR PR SR P 11 ORI < 2 4

= Rysunek 3

23. O montazu i demontazu plyty montazowej
Ocynkowana ptyta montazowa jest juz zamontowana w skrzyni w
momencie dostawy.

Zobacz rysunek 4.

(1) Demontaz ptyty montazowej: Za pomoca klucza M6 odkre¢ 4 nakretki

-4-



ptyty montazowej w kierunku przeciwnym do ruchu wskazowek zegara .
(2) Montaz ptyty montazowej: podczas ponownego montazu ptyty

montazowej w skrzynce najpierw umiesé ptyte montazowg we wtasciwej
pozycji, a nastepnie przykre¢ 4 nakretki M6 za pomoca $rub mocujgcych

zgodnie z ruchem wskazéwek zegara za pomocg klucza nasadowego M6.
s e

e -Rysunek 4
24. O montazu wiszacych lamp sciennych

(1) Za pomoca wkretarki elektrycznej (wyposazonej w wiertto ¢ 6,5 mm)

wywier¢ otwory przeznaczone do montazu na scianie;

(2) Nakretka M6 jest umieszczona w prawidtowej pozycji wiszgcego
uchwytu $ciennego;

(3) Lampe $cienng nalezy zamontowaé w odpowiednim miejscu otworu
montazowego (poniewaz otwor lampy sciennej jest szesciokatny, nalezy
dostosowac kat montazu lampy Sciennej zgodnie z wkasnymi potrzebami:
poziomo, pionowo, pod katem 45 stopni itd.);

w przypadku montazu wiszgcego oswietlenia $ciennego w pozyciji
pionowej na Scianie, odpowiednia odlegtosé montazu na Scianie A1 (wys. *
szer.) podana jest w powyzszej Karcie Danych Specyfikaciji.

w przypadku montazu wiszgcego na $cianie w poziomie, odlegtosé
montazu na Scianie A2(H*W) podana jest w powyzszej Karcie Danych
Specyfikaciji.

(4) Przet6z Sruby M6*25mm od wewnatrz skrzynki i przykre¢ nakretke
Sciennego uchwytu wiszgcego;
(5) Pozostate trzy narozniki mocuje sie tg samag metoda;

-5-



(6) Po zakonczeniu montazu zawieszek $ciennych wybierz odpowiednie

miejsce na scianie i zamontuj puszke na Scianie.
Zobacz rysunek 5.

LA,

Rysunek 5

Wyprodukowano w Chinach



VEVOR

TOUGH TOOLS, HALF PRICE

Techniczny Wsparcie i certyfikat e-gwarancji
www.vevor.com/support


https://www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Technisch Ondersteuning en E-garantiecertificaat
www.vevor.com/support

Elektrische behuizing
Productomschrijving

Model : DS -SMC-32514 / DS-SMC- 43020
DS-SMC-44020 / DS-SMC-54020
DS-SMC-64023 / DS-SMC-65023

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR Electrical Enclosure

TOUGH TOOLS, HALF PRICE

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



©

Waarschuwing: om het risico op letsel te verkleinen, moet de
gebruiker de gebruiksaanwijzing zorgvuldig lezen.

FEATURES OF PRODUCTS

De DS-SMC- serie is een nieuw type elektrische kunststofdoos , gemaakt
van Sheet molding compound (SMC) glasvezel , waterbestendig tot IP6 6 ,
slagvastheid tot IK 0 8-niveau. De kenmerken van de SMC-glasvezel zijn
hoge sterkte, uitstekende slagvastheid, goede taaiheid, eenvoudig te

verwerken en te vormen, enz. zodat het een hoge weerstand en

mechanische stijfheid (IK 0 8) bereikt. Vergeleken met elektrische metalen
dozen, heeft de DS-SMC -serie uitstekende isolatieprestaties en is het
geschikter voor corrosie en vochtige omgevingen en andere voordelen.

SPECIFICATION DATA

Model Externe Interne Wandmon | Wandmont | Materiaal
grootte grootte tage age afstand
(H*B*D)mm | (H*B*D)mm afstand A2
A1 (H*B)mm
(H*B)mm

DS-SMC-32514 300*250*140 | 274*240*116 329*215 247297

DS-SMC-43020 400*300*200 | 365*287*176 420%260 338*342

DS-SMC-44020 400*400*200 | 365*387*176 420*260 338*442

DS-SMC-54020 500*400*200 | 464*391*176 516*356 434%438 SMC

Glasvezel

DS-SMC-64023 600*400*230 | 564*386*207 618*360 536*442

DS-SMC-65023 600*500*230 | 564*486*207 618460 536542

OPMERKING:




25. IP-niveau: |IP66
26. IK-niveau: IK08
27. Temperatuurbereik: -40C tot +120°C

28. Accessoires: kunststof wandmontageonderdelen: 4 stuks met
schroeven.

INSTALLATION STEPS

25. Over Lock 's Open & Close

(1)Sluit het slot: Sluit de deur van de doos, de sleutel staat verticaal (zie
onderstaande afbeelding) en is in de geopende stand vergrendeld. Begin
met de hand op de deur te drukken (de deur is uitgerust met een
afdichtring om aan de waterbestendige eigenschappen te voldoen), draai

vervolgens de sleutel 90° naar links om de deur te vergrendelen. Zie
afbeelding 1.

|
|

PO T P S|

¢
M aFiguur 1

(2) Open slot: de sleutel in de horizontale positie (zie onderstaande
afbeelding) bevindt zich in de vergrendelde, gesloten stand. Begin met de
hand op de deur te drukken en draai de sleutel vervolgens 90° naar
rechts om de deur te openen. Zie afbeelding 2.

IO LA AL 3



e o

] Figuur 2

26. Over de installatie en demontage van DIN-rail

De 3-delige stalen Din-rail is bij levering al in de doos gemonteerd.

Zie figuur 3.

(1) DIN-rail demonteren: Gebruik een M6-sleutel. Draai de moeren aan
beide zijden van de DIN-rail tegen de klok in los.

(2)Installatie DIN-rail: wanneer u de DIN-rail opnieuw in de doos moet
installeren, plaatst u eerst de DIN-rail op de aangegeven juiste positie en
schroeft u de 2 M6-moeren met vaste M6*20mm-bouten met de klok mee
vast met behulp van een M6-sleutel.

= = Flguur3

27. Over de installatie en demontage van de montageplaat

De verzinkte montageplaat is af fabriek al in de doos bevestigd.

Zie figuur 4.

(1) Demontage van de montageplaat: Gebruik een M6-sleutel. Draai de 4
moeren van de montageplaat tegen de klok in los.

(2) Montageplaat installeren: wanneer u de montageplaat opnieuw in de

BRI

-4-



doos installeert, plaatst u eerst de montageplaat op de aangegeven juiste
positie. Draai de 4 M6-moeren met vaste bouten vast met de klok mee met
behulp van een M6-sleutel. B

SRR : Figuur 4
28. Over de installatie van de wandmontagehangers
(1) Gebruik een elektrische schroevendraaier (voorzien van een boor van

¢ 6,5 mm) om door de gereserveerde gaten voor de muurbevestiging te

boren;

(2) De M6-moer wordt op de juiste positie van de wandmontagehanger
geplaatst;

(3) De wandmontagependel wordt op de juiste positie van het montagegat
geinstalleerd (omdat het gat voor de wandmontagependel zeshoekig is,
kan de ondersteuning de installatiehoek van de wandmontagependel
aanpassen aan hun eigen gebruik: horizontaal, verticaal, 45 graden, enz.);
Wanneer de wandmontagehanger verticaal aan de muur wordt
gemonteerd, geldt de bijbehorende wandmontageafstand A1 (H*B) zoals
aangegeven op het bovenstaande specificatieblad.

Wanneer de wandmontagehanger horizontaal aan de muur wordt
gemonteerd, geldt de bijbehorende wandmontageafstand A2 (H*B) zoals
aangegeven op het bovenstaande specificatieblad.

(4) Steek de M6*25mm bouten vanuit de binnenkant van de doos door en
bevestig de moer van de wandmontagehanger;

(5) De overige drie hoeken worden op dezelfde manier vastgezet;

(6) Nadat u de wandmontagehangers hebt geinstalleerd, selecteert u een

-5-



geschikte positie op de muur en bevestigt u de doos aan de muur.
Zie figuur 5.

Figuur 5

Gemaakt in China



VEVOR

TOUGH TOOLS, HALF PRICE

Technisch Ondersteuning en E-garantiecertificaat
www.vevor.com/support


https://www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Teknisk Support och e-garanticertifikat
www.vevor.com/support

Elektrisk kapsling
Produktbeskrivning

M odel : D S-SMC-32514 / DS-SMC-43020
DS-SMC-44020 / DS-SMC-54020
DS-SMC-64023 / DS-SMC-65023

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR Electrical Enclosure

TOUGH TOOLS, HALF PRICE

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



Varning - For att minska risken for skada maste anvandaren
I&sa instruktionerna noggrant.

©

FEATURES OF PRODUCTS

DS-SMC- serien ar en ny typ av elektrisk plastiada , den ar gjord av
arkformningsmassa (SMC) glasfiber , vattentat klass to IP6 6 , slagtalighet
till 1K 0 8 niva. Karakteristiken for SMC glasfiber ar hdg hallfasthet, utmarkt
slagtalighet, god seghet, latt att bearbeta och forma, etc. sa att den uppnar
hég motstandskraft och mekanisk styvhet (IK 0 8). Jamfort med elektrisk
metalllada, DS -SMC- serien har utmarkt isoleringsprestanda och ar mer
ldmplig for korrosion och fuktig miljé och andra férdelar.

SPECIFICATION DATA

Modell Yttre storlek | Inre storlek | Vaggmont | Vaggmonte | Material
(H*B*D)mm | (H*B*D)mm | eringsavs | ringsavsta
tand A1 nd A2
(H*W)mm (H*W)mm
DS-SMC-32514 | 300*250*140 | 274*240*116 | 329*215 247*297
DS-SMC-43020 | 400*300*200 | 365*287*176 | 420*260 338*342
DS-SMC-44020 | 400*400*200 | 365*387*176 | 420*260 338*442
DS-SMC-54020 | 500*400*200 | 464*391*176 | 516*356 434*438 SMC
glasfiber
DS-SMC-64023 | 600*400*230 | 564*386*207 | 618*360 536*442
DS-SMC-65023 | 600*500*230 | 564*486*207 | 618*460 536*542
NOTERA:
29. IP-niva: IP66
30. IK Niva: IK08




31. Temperaturomrade: -40°C till +120°C
32. Tillbehor: plastvaggmonteringsdelar: 4 st med skruvar.

INSTALLATION STEPS

29. Om lasets 6ppna och stinga

(1) Stang las: Stang laddoérren, nyckeln i vertikalt Iage (se bilden nedan)
l&ser Oppet tillstand. Borja med handen och tryck ner dérren (dorren ar
utrustad med tatningsring for att mota vattentat prestanda), roterar sedan
nyckeln 90° at vanster for att lasa dorren. Se figur 1.

g0 TN F
»

SR

¢
aFigur 1

(2) Oppet las: nyckeln i horisontellt 1ge (se bilden nedan) &r Iast i stangt
lage. Borja med att trycka ner dérren med handen, vrid sedan nyckeln 90°
at hoger for att 6ppna doérren. Se figur 2.

oA § 1

—

Figur 2

30. Om installation och demontering av Din Rail
Den 3 st stal Din-skenan redan fixerad i ladan fritt fran fabrik.
Se figur 3.



(1) Demontering av din-skenan: Anvand M6-nyckel. Skruva loss
din-skenans tva sidors muttrar i moturs riktning.

(2) Installation din rail: nar du behdver aterinstallera din rail i boxen.
Placera forst din din skenan pa visade korrekt lage, skruva 2st M6 muttrar
med fasta M6*20mm bultar i medurs riktning med M6 nyckel.

PR R DA L1 X 1 RS+

weon Figur 3

31. Om installation och demontering av monteringsplatta

Den galvaniserade monteringsplattan ar redan fixerad i ladan fran fabrik.
Se figur 4.

(1) Demontering av monteringsplatta: Anvand M6-nyckel. Skruva loss
monteringsplattans 4 muttrar moturs.

(2) Installationsmonteringsplatta: nar du installerar om monteringsplattan i
ladan. Satt forst monteringsplattan pa visade korrekt lage, Fast de 4 st M6

muttrarna med fasta bultar i medurs riktning med en M6-nyckel.
wmimn;:ﬂ

- Figur 4
32. Om installationen av vaggmonteringshangen

(1) Anvand en elektrisk skruvmejsel (utrusta med ¢ 6,5 mm borr) for att

-4-



borra genom de reserverade halen for vaggfastet;

(2) M6-muttern ar placerad pa ratt plats for vaggmonteringshanget;

(3) Vaggmonteringshanget ar installerat pa ratt plats fér monteringshalet
(eftersom halet for vaggmonteringshanget ar sexkantigt, sa stod justera
installationsvinkeln fér vaggmonteringshanget enligt deras egen
anvandning: horisontell, vertikal, 45 grader etc);

nar vaggmonteringshanget vertikalt monteras pa vaggen, visas relaterat
vaggmonteringsavstand A1(H*W) pa ovanstaende specifikationsdatablad.
nar vaggmonteringshanget horisontellt monteras pa vaggen, visas
relaterat vaggmonteringsavstand A2(H*W) pa ovanstaende
specifikationsdatablad.

(4) Passera genom M6*25 mm bultarna fran insidan av ladan och fast
muttern pa vaggmonteringshanget;

(5) De aterstaende tre hornen fixeras med samma arbetsmetod;

(6) Nar installationen av vaggmonteringshangen ar klar, valj en Iamplig
plats pa vaggen och fast ladan pa vaggen.

Se figur 5.

g




Tillverkad i Kina



VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk Support och e-garanticertifikat
www.vevor.com/support


https://www.vevor.com/support

